do/d A R(sub-lead. lep., lead. jet)

Ratio to ATLAS

14

12

10

0.5

13000 GeV pp WW

I | I I I | I H ﬂ
- | | 12
— AR(lepton,jet) (ATLAS WWH+iets, b veto) — 3
B 13
- m ATLAS 1S
| —&— Pythia 8.186 default N
L —&— Pythia 8.186 default-noFsr 13
— —4— Pythia 8.186 default-noRap 15
- _lo
=
— —r
B 1z
™
L — <
(40
- u u —©
o m o
™
- |
- | 1=
u X
— — &
- ] — E
- )
c
B lo
- — O
[%)]
B 1o
B . 15
| | | | | | | | | | E
: T T T | T T T | T |:
— =2
1
I P
0 2 4

A R(sub-lead. lep., lead. jet)



	Contents
	Page 1


